

$$\textcircled{1} f'(x) = 12x^2 - 6x + 1, f(1) = 5, f(0) =$$

$$f(x) = 4x^3 - 3x^2 + x + C$$

$$\text{at } (1, 5): 5 = 4 - 3 + 1 + C$$

$$\boxed{C = 3}$$

$$\text{so } f(x) = 4x^3 - 3x^2 + x + 3$$

$$\text{so } \boxed{f(0) = 3} \quad \boxed{B}$$

$$\textcircled{3} f''(t) = 2(3t+1), f'(1) = 3, f(1) = 5$$

$$f''(t) = 6t + 2$$

$$f'(t) = 3t^2 + 2t + C$$

$$\text{for } f'(1) = 3: 3 = 3 + 2 + C \quad \boxed{C = -2}$$

$$\text{so } f'(t) = 3t^2 + 2t - 2$$

$$f(t) = t^3 + t^2 - 2t + C$$

$$\text{for } f(1) = 5: 5 = 1 + 1 - 2 + C \quad \boxed{C = 5}$$

$$\text{so } \boxed{f(t) = t^3 + t^2 + 2t + 5} \quad \boxed{E}$$

$$\textcircled{6} a(t) = 8 - 8t, v(0) = 12$$

$$v(t) = 8t - 4t^2 + C$$

$$\text{for } v(0) = 12: 12 = C$$

$$\text{so } v(t) = 8t - 4t^2 + 12$$

$$x(t) = \text{position} = -\frac{4}{3}t^3 + 4t^2 + 12t + C$$

MAXIMIZE $x(t)$

$$\text{so } x'(t) = v(t) = -4t^2 + 8t + 12 = 0$$

$$-4(t^2 - 2t - 3) = 0$$

$$-4(t-3)(t+1) = 0$$

$$\text{so } t = 3 \text{ or } t = -1$$

$$\text{since } x''(3) = a(3) = 8 - 8(3) < 0,$$

$$t = 3 \text{ maximizes } x(t)$$

$$\text{so } \boxed{3 \text{ seconds}} \quad \boxed{C}$$

$$\textcircled{2} g'(x) = \frac{5x^2 + 4x + 5}{\sqrt{x}}$$

$$g'(x) = \frac{5x^2}{x^{1/2}} + \frac{4x}{x^{1/2}} + \frac{5}{x^{1/2}}$$

$$g'(x) = 5x^{3/2} + 4x^{1/2} + 5x^{-1/2}$$

$$g(x) = 5\left(\frac{2}{5}\right)x^{5/2} + 4\left(\frac{2}{3}\right)x^{3/2} + 5\left(2\right)x^{1/2} + C$$

$$g(x) = 2x^{5/2} + \frac{8}{3}x^{3/2} + 10x^{1/2} + C$$

$$\boxed{g(x) = 2x^{1/2}\left(x^2 + \frac{4}{3}x + 5\right) + C} \quad \boxed{B}$$

$$\textcircled{4} \text{ Antiderivatives of } f(x) = \sin x \cos x.$$

Plan: take derivative of each I, II, and III

$$\text{I. } F_1(x) = \frac{1}{2}(\sin x)^2, F_1'(x) = (\sin x) \cdot \cos x \checkmark$$

$$\text{II. } F_2(x) = -\frac{1}{4} \cos 2x = -\frac{1}{4} (\cos^2 x - \sin^2 x)$$

$$F_2'(x) = -\frac{1}{4} (2\cos x(-\sin x) - 2\sin x \cos x)$$

$$= -\frac{1}{4} (-4 \sin x \cos x)$$

$$= \sin x \cos x \checkmark$$

$$\text{III. } F_3(x) = -\frac{1}{2}(\cos x)^2, F_3'(x) = -(\cos x)(-\sin x)$$

$$= \sin x \cos x \checkmark$$

$$\text{so } \boxed{D} \quad \boxed{\text{I, II, \& III}}$$

$$\textcircled{6} \text{ (a) } \int (\sqrt{x^3} + 2x + 1) dx$$

$$= \int (x^{3/2} + 2x + 1) dx$$

$$= \boxed{\frac{2}{5}x^{5/2} + x^2 + x + C}$$

$$\text{(b) } \int \left(\frac{x^3 + 2x - 3}{x^4} \right) dx$$

$$= \int \left(\frac{x^3}{x^4} + \frac{2x}{x^4} - \frac{3}{x^4} \right) dx$$

$$= \int \left(\frac{1}{x} + 2x^{-3} - 3x^{-4} \right) dx$$

$$= \boxed{\ln|x| - x^{-2} + x^{-3} + C}$$

$$\begin{aligned}
 (b) \int (2t^2 - 1)^2 dt \\
 &= \int (4t^4 - 4t^2 + 1) dt \\
 &= \boxed{\frac{4}{5}t^5 - \frac{4}{3}t^3 + t + C}
 \end{aligned}$$

$$\begin{aligned}
 (c) \int \left(\frac{\cos x}{1 - \cos^2 x} \right) dx \\
 &= \int \left(\frac{\cos x}{\sin^2 x} \right) dx \\
 &= \int \left(\frac{\cos x}{\sin x} \cdot \frac{1}{\sin x} \right) dx \\
 &= \int (\csc x \cot x) dx \\
 &= \boxed{-\csc x + C}
 \end{aligned}$$

$$\begin{aligned}
 (7) (a) f'(x) = 4x, f(0) = 6 \\
 f(x) = 2x^2 + C \\
 \text{for } f(0) = 6: 6 = 2(0^2) + C \\
 C = 6 \\
 \text{so } \boxed{f(x) = 2x^2 + 6}
 \end{aligned}$$

$$\begin{aligned}
 (c) f''(x) = 2, f'(2) = 5, f(2) = 10 \\
 f'(x) = 2x + C, 5 = 2(2) + C \\
 C = 1 \\
 \text{so } f'(x) = 2x + 1 \\
 f(x) = x^2 + x + C, 10 = 2^2 + 2 + C \\
 C = 4 \\
 \text{so } \boxed{f(x) = x^2 + x + 4}
 \end{aligned}$$

$$\begin{aligned}
 (e) f''(x) = \sin x, f'(0) = 1, f(0) = 6 \\
 f'(x) = -\cos x + C, 1 = -\cos(0) + C \\
 C = 2 \\
 \text{so } f'(x) = -\cos x + 2
 \end{aligned}$$

$$\begin{aligned}
 (d) \int (\theta^2 + \sec^2 \theta - \csc \theta \cot \theta) d\theta \\
 = \boxed{\frac{1}{3}\theta^3 + \tan \theta + \csc \theta + C}
 \end{aligned}$$

$$\begin{aligned}
 (f) \int (\cos x + 3^x) dx \\
 = \boxed{\sin x + \frac{1}{\ln 3} \cdot 3^x + C}
 \end{aligned}$$

$$\begin{aligned}
 (b) h'(t) = 8t^3 + 5, h(1) = -4 \\
 h(t) = 2t^4 + 5t + C \\
 \text{for } h(1) = -4: -4 = 2 + 5 + C \\
 C = -11 \\
 \text{so } \boxed{h(t) = 2t^4 + 5t - 11}
 \end{aligned}$$

$$\begin{aligned}
 (d) f''(x) = x^{-3/2}, f'(4) = 2, f(0) = 0 \\
 f'(x) = -2x^{-1/2} + C; 2 = \frac{-2}{\sqrt{4}} + C, \boxed{C = 3} \\
 \text{so } f'(x) = -2x^{-1/2} + 3 \\
 f(x) = -4x^{1/2} + 3x + C; 0 = 0 + 0 + C, \boxed{C = 0} \\
 \text{so } \boxed{f(x) = -4\sqrt{x} + 3x}
 \end{aligned}$$

$$\begin{aligned}
 (e) f''(x) = \sin x, f'(0) = 1, f(0) = 6 \\
 f'(x) = -\sin x + 2x + C, 1 = -\sin(0) + 2(0) + C \\
 C = 1 \\
 \text{so } f'(x) = -\sin x + 2x + 1 \\
 f(x) = \cos x + x^2 + C, 6 = \cos(0) + 0 + C \\
 C = 5 \\
 \text{so } \boxed{f(x) = \cos x + x^2 + 5}
 \end{aligned}$$